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Topic:- Child Development & Pedagogy (CDP)

1) The hyperkinetic disorder is characterized by all of the following, except: / lesﬁm
faer # faxivar Fafafea 4 3 53 siss Av it &

1. Distractibility / f¥cfaaferdt
2. Hyperactivity / 3ifcrfebaar
3. Hallucinations / Afdyd

4. Impulsivity / Sefact

Correct Answer :-

« Hallucinations / AfdY#

2) Teachers must constantly deal with changing standards and

teaching profession. /fﬂT&ﬁﬁﬁ fQT&‘I'UTWﬁ [SRUGIES Wq’ﬁﬁ”ﬁ 3R
& 1Y ST BT A1RT

1. Syllabus / UTaY-fdarur
2. Curriculum /W
3. Assessment / 3{Thcl
4. Exam system /ﬁ&ﬂﬂvﬂ?ﬁ

Correct Answer :-

e Curriculum /W

3) Piaget believed that language develops in a child as a result of: /WWH’FFIT YT fobs

¥= § U &1 faery, =1 & ufvommasu glar g:
1. Cognitive development/wm



2. Egocentric development / 31Id-la5iad CEAE

3. Behavioural development / SIAERIH® [AH T

4, Environmental development /Q'qﬁTUﬂ'qﬁW

Correct Answer :-

« Cognitive development/WﬁW

4) Mary is very outgoing. She is an exceptional Bharatanatyam dancer but does not score well
in her academics. Which of the teaching method will give more productive results for Mary? /

A aga Al 81 98 U SRATURUT HRaATeaw Ad! ¢ Afde ag Rien & Jaivee 3id
81 urell 81 AY & fore i <t Rreror faftr sifres amvve gifte

1. Excursions /'J;I'J:I'UT?JT&ITJ:hE

2. Brainstorming methods/ﬁﬂ'ma'ﬁm

3. Grade acceleration /ﬁ%’q@

4. Individualized instrucﬁons/mﬁ&m

Correct Answer :-

« Excursions /‘J;I'JZI'UTZITS'I'I'mT:{

5) The occurrence of is an indication of stagnation in the learning process. /

BT e, SRATH Y ufhar § fRRT $1Ts Shd 2
1. Motivation / 3{fHUROT

2. Plateau / FRRI® (e

3. Progression / JTfdl

4. Curve / 9% (Pd)

Correct Answer :-

 Plateau / fRRRi® (lﬁa)

6) What is the main objective of teaching in inclusive classrooms? / guTasht weme o Wﬁ
BT YE I 132

1. Preparing students for job/ EIEICIKIERIE:D 1%@ TR HAT

2. Preparing students to pass the examination / BT P URIET U B o g TIR BT
3. Developing thinking power of students / S @ i e &1 fabrg dxe

4. Providing notes to students / EIEICA :ﬁE\H Yald dAl



Correct Answer :-

« Developing thinking power of students / S & RiaT fed &1 faer &

7) Development does not include changes that happen due to: / oo # 9 ufvads gfifera qﬁ
g it g & SRUT 1A &

1. Tllness / SR
2. Learning / T
3. Maturation / URU&dT

4. Aging / delUl

Correct Answer :-

o Tllness / STHRT

8) The key agent in Erikson’s Psychosocial stage of “Autonomy versus shame and doubt” is /

“TATIIdT STH I 3R Yag” (SATe-1a a3 9 U S13<) P TR & TTHID IR0 §
TG UCH 3 -

1. Primary caregiver / URIYS TerIdh
2. Family / IRGIR

3. Parents / HId1-fOdn

4, Teachers and peers / fRrerep iR ameht

Correct Answer :-

e Parents / HId1-fUdn

9) When a child breaks a vase, his parents explain that this was wrong and tell him that he will not
receive his pocket money for a week. What type of parenting is this? / SId Ydh d=Il peiqld T‘ﬁ:":_dT

g, a1 I9& ATa1-fuar IHea € f ug erd u1 3R 39 gd1d & f v g & fere 39
Sg@d T8 | U8 f5Y PR &1 ura=-uiyor g2

1. Behaviourist / SIGgIRATG!
2. Authoritarian / F<[d] é |
3. Authoritative / 3TYBTRD

4. Permissive / &W

Correct Answer :-

« Authoritative / STIRTNG



10) Children with Autism are: / AT (ar"rl%m) ﬁtﬁ%a' G| sﬁ %

1. Unable to make eye contact with others. / m & 1Y 3G W Guh HA A RS
2. Unable to move about comfortably. / ${RTH ¥ a;qﬁ o sy

3. Unable to fall asleep. / EIFNRE Kinepail]

4. Unable to follow instructions. / FG=1 &1 UTe @3- H 3Ry

Correct Answer :-

» Unable to make eye contact with others. / QFR [P 1Y 3R T U B T argaef

11) During stage of cognitive development, children acquire knowledge through
manipulating objects. / HTTH® [AHTT & AT & SR, T g 3if A IIHY FIb
I U FRA 5 |

1. formal operational stage/ el dfoharaTd srawat
2. sensorimotor stage / HEAHICR ST
3. concrete operational stage / Hj\:ﬂw AR

4. preoperational stage / qﬁw SHARIT

Correct Answer :-

« sensorimotor stage / FTRTHICR AR

12) One way of minimizing the effects of diversity is to allow the children to: / fafaear & gvma &t

HH DI BT UH qlbT g $1 fr=T B Srgafa ST R:

1. Win over each other/ Toh-G8R TR Siid gTRIS B bl

2. Operate in separate groups/ 3TT-3{CT JHG! B HTH HIA Bl

3. Start small communities of their own/3{0- a8 & BI¢ TG DI L= HRA Bl

4. Socialize with each other/ W—QH?{ & 1Y Aol dg &1

Correct Answer :-

e Socialize with each other/ W—QH?{ & 1Y Aol dd;l'q 3|

13) According to Ivan Pavlov’s idea of Classical Conditioning, a particular natural response to a
stimulus becomes a conditioned response to another associated stimulus. Which one of the following

examples satisfies that theory?/ WW%WW%W% SR, Th
Il & 1T Ue faRiv urgsfaes ufaforar gar dae ST & g o I=d ufaforar o= ot
2| Frafafaa o | #1431 3eevr 39 Rigid & 9qy #vdrg?

1. Children responding to the bell at school to indicate recess and associating it to happiness./ CEIGRE]

Gl IO B = AIHT BT Hobd JHFA g MR I WM & 1Y wiisd 3



2. Children maintaining silence when the teacher raises her hand/ SI§ e/ BIY 3AId % qAT= W
U G g

3. Children expecting to receive medals by the end of a race/ E?fg & 3id dP UgH U IR Bl S
g 9T &= |

4. Children getting star stickers for the right answers asked in class./ P& | qi? IR | I B fau R
REDHR UTtd - dTcd S |

Correct Answer :-

« Children responding to the bell at school to indicate recess and associating it to happiness./ faemeag o

Hl Foi B T SHTHTR BT Hobd T & 3R I YR & Y Siisd g

14) According to Cognitivism, learning is defined as a change in the learners’

IIATHDAIG & VR, sftrm &t Rremffes ﬁw%wﬁuﬁmﬁam
a1

1. Behaviour / dgR

2. Schemata/ Hdod (IP1HTET)
3. Mindset / ARG

4, Morals / ﬁﬁ@

Correct Answer :-

« Schemata/ Hdd @IITE‘T)

15) According to Bingham, what does an aptitude test disclose? / S ® IR, m Ttefor
H T T Il 82

1. The tendencies and capacities inherent in the individual's original constitution./ Sfdl & Hel ¥9HId 7 e
&Y 3R ygfrt
2. The achievement in different dispositions./ fafH= @W gl § Ut

3. The readiness to acquire proficiency and exercise ability./ TJIUrar 3R 31T HIA DI daORdT |
4, The strength of the different dispositions./ faft= &B_HTW qrgar ot grad

Correct Answer :-

o The readiness to acquire proficiency and exercise ability./ TJIurar 3R 31T B D1 R |

16) A child was taught to be afraid of cobras. Now, he is afraid of all snakes. What learning principle

is evident here?/@ﬁﬁmﬁmmwml aﬁ,a's'mhﬁlﬁﬁw%l TIETH’SFI
1 AR Ryegia ww 32

1. Reinforcement / W

2. Spontaneous recovery / ¥dd: gwaeh



3. Stimulus generalization / BEOFW 6B
4. Stimulus discrimination / 3§19 faNdIHUI

Correct Answer :-

» Stimulus generalization / I U JrHRITHT

17) Carl Jung’s approach for a personality assessment is:/ fdad Sipad & forg BT G T

=PI E:

1. Judging / ﬁﬂféﬂ

2. Perception / ﬂaﬁ
3. Structured / IR
4, Projective / gady

Correct Answer :-

o Projective / gady

18) Which of the following is the term used to denote inborn patterns of behavior that are

biologically determined? / Sifa®w =u A fAuia qdgR & SHSITd Ul Y E'Q'Iﬁ & ﬁl’({
frefafea o @ fora wrsg &1 ST foran wiraT 82

1. Arousal / STIoI (TRI39A)

2. Drives / 3[4 (ST364)

3. Instincts / JAVGRMAT EReae)
4. Tncentives / T@IH (3?@1%3&)

Correct Answer :-

« Instincts / JAUGRIAT (3fede)

19) Which of the following is not a part of the process of memory? / Fafrfad s ﬂﬁ ®1
wfsrar &1 fovar 81 82

1. Storing information / STHR] TUGId HRAT
2. Encoding information / ST R] BT HbciIchRUT BT

3. Acting on information / JdT UX B BT

4. Retrieving information / ST UTW &Rl

Correct Answer :-

 Acting on information / ¥ U B AT



20) What substage of cognitive development is apparent when a baby learns to press the ‘play’
button on the iPad in order to play his favourite nursery rhyme? / HIT-TCH® fawra & &1
IU-IARIT T §eH B, 19 TP g1 30+ yeidier 14} e 3eq & g amd-ds R
I e a1 HHEdr 82

1. Coordination of secondary schemes / Heaid grorTeli o 999
2. Primary circular reactions / IiEer FRIEIR PIRIERIY
3. Secondary circular reactions / AT H® ddlhR PIRIERIY

4. Tertiary circular reactions / (jdnlqcb CICAMN PIGIERY

Correct Answer :-

 Coordination of secondary schemes / Heafie goHell & 999

21) What age is a child the most impressionable? / foa ST BT d=dT A SATET YUTaRITe gl 82
1. 14 t0 18 years / 14 T 18 Y

2.2to8years /2¥ 8Ty

3.9to 12 years /99 12 a§

4. 6to 14years/6a14a'5f

Correct Answer :-

« 6to 14years/6® 1439

22) CCE is undertaken . /@'\"ﬂg L BRA™ far srar %I
1. Four times a year / Udh Iy IR IR

2. Throughout the year / ¥ 1R A

3. Periodically / HHI-HHI UR

4. Twice ayear/waﬁfﬁaw

Correct Answer :-

» Throughout the year / CLRIRg:|

23) Questioning in the classroom : / P& o UY BT
1. Develops inactivity / fAfspgar fasw Rig wear % |
2. Clarifies subject matter / TAS a¥d o) WP HRAT g |



3. Creates indiscipline / SRR UcT Hl B
4. Is a waste oftime/Wﬁa@ﬁ%I

Correct Answer :-

« Clarifies subject matter / [aST a¥d & WP FRAT g |

24) Needs which grow stronger when unsatisfied are called: / 3¢ TAW Holdd g areft
razgehary fr seard ¢

1. Deficiency needs / HH TR

2. Primary needs / YA SRl

3. Growth needs / Q@ =

4. Being needs / 3TaRIH S

Correct Answer :-

» Deficiency needs / HH TR

25) Who proposed the theory of observational learning? /a'&l'Uﬂ'q 3ffEtRTH &1 Rrgid oo
uxgd far?

1. Ivan Paviov / A UTIGald
2.B.F. Skinner/ﬁﬁ.w. PR
3. Aaron Beck / 3R dh

4. Albert Bandura / S1

Correct Answer :-

« Albert Bandura / SGR1

26) A scoring guide use to evaluate the quality of students is called: / BEl B
TUTGT T YITh B & oI SIAUTA Dt S dTell T HIT Mg S = Heardt
B

1. Checklist / Tpfere
2. Rubrics / o

3. Rating scales / 37T Thed
4, Inventories /s—rléﬁ?r

Correct Answer :-



. Inventories / s_rla@ﬂ

27) Both pleasant and unpleasant feelings are associated with L/ gdq

R MG WA A SIEIeA €1

1. Double approach — avoidance conflict / fg ?’W'UT - UF{BTT oy
2. Avoidance - avoidance conflict / qﬁ%ﬂ - QﬁBTT W

3. Approach — approach conflict / g@w - ?@W oy

4. Approach — avoidance conflict / ?@W - tlﬁ%ﬂ IOy

Correct Answer :-

« Approach — avoidance conflict / PP - UREgR Tay

28) Authentic Assessment is a form of assessment in which: / UTHIOT® 3fipad 3ipad
H1UH FY ¢ foraH :

1. Students are asked to perform real-world tasks that demonstrate meaningful application of

essential knowledge and skills. /WﬁWW%WﬁW%WWW%
S 3MTaRge T 3R P & e SIUaRT & UelRid #vd §

2. Students results are compared to hypothetical average student/?ﬂﬁ%qmﬁaﬂw
HIUD 3 S F B e §

3. Student performance is measured against a fixed set of predetermined criteria or learning standards

/ B & UeRH B g4 FUid AFcs! a1 Wa & dHe! & U Higd I & fqusia arr Sidm g

4. Teacher determines students' individual strengths, weaknesses, knowledge, and skills prior to

instruction /@T&W STl B G QTW, Wﬁcﬁ, RIS aﬁ?ﬁr&nﬁﬁw“@ru@ﬁ
fufta sxarg

Correct Answer :-

» Students are asked to perform real-world tasks that demonstrate meaningful application of

essential knowledge and skills. / I PICAGIESICES ﬁm%ﬁﬁmﬁ%%ww%
S STIRTS T 3R HIE & 1 ST 1 USRI Hd &

29) CANCELLED
Classical gestalt theory was put forth by: / FATRIP A T frgia Fagr Uxgd IERIRIEIKIR
1. Thorndike / UTHSTZH

2. Kohler / W
3. Piaget / IERIE



4. Pavlov / UTd@Id

Correct Answer :-

30) Which of the following factors influences a child's success and failure in school performance

%ﬁaﬁ@aﬁﬁﬁﬁ-mwm%mﬁﬁaﬂm&ﬁvmﬁwﬁam
?

1. Parental education background / HTIT-fOdT & fR1&f &1 qgﬂi&[

2. Physical strength of child / T & IRINS qﬁﬁ\—rﬁ

3. Teachers contribution in learning process / ST ufchar § fRr&e! &1 g™
4, Social Influence on child's learning / g & AT IR IR gyTd

Correct Answer :-

« Teachers contribution in learning process / T Ufchar | fR1efe! &1 arTeM

Topic:- General English(L1GE)

1) Fillin the blanks with the correct option in the given sentence:
Most plant species are not adapt -- to a desert environ--.

1. —-ive ... --ment

2. -- able ... -- mental

3. -- able ... --ment

4. --ion ... mentally

Correct Answer :-
e --able... --ment

2) Fill in the blank with the correct option in the given sentence:

A person of little or no importance is a --entity.
1. non--

2. trans --

3. uni--

4. dis --

Correct Answer :-



3) Read the passage and answer the question that follows:

Fleas are perfectly designed by nature to feast on anything containing blood. Like a shark in the
water, fleas are ideally equipped to do what they do, making them very difficult to defeat. A flea
has a body covered by a tough, tile-like plate called a sclerite. Because of these plates, fleas are
almost impossible to squish. These are also waterproof and shock resistant, and therefore fleas
are highly resistant to the sprays and chemicals used to kill them. Little spines are attached to
this plate. The spines lie flat against the flea’s thin, narrow body as the flea scurries in search of
food. However, if anything tries to pull a flea off through the hair coat, these spines will extend
and stick to the fur like Velcro. Fleas are some of the best jumpers in the natural world. A flea
can jump seven inches, either vertically or horizontally. They have very long rear legs with huge
thigh muscles and multiple joints. When they get ready to jump, they fold their long legs up and
crouch like a runner on a starting block. Several of their joints contain a protein, which helps
catapult fleas into the air as they jump. The adult female flea mates after her first blood meal
and begins producing eggs in just 1 to 2 days. These eggs can be seen with the naked eye.
Shortly after being laid, the eggs begin to transform into cocoons. In the cocoon state, fleas are
fully developed and will hatch immediately if conditions are favorable. Fleas can detect warmth,
movement, and carbon dioxide in exhaled breath, and these three factors stimulate them to
emerge as new adults.

What helps fleas to jump very high?

1. They are naturally born high jumpers and take off like a plane.

2. They are not insects that jump very high but rather move very fast.

3. They have short front legs and very long rear legs and get ready to jump.

4. Their rear legs have huge thigh muscles and their joints have a protein that helps.

Correct Answer :-

o Their rear legs have huge thigh muscles and their joints have a protein that helps.

4) Read the passage and answer the question that follows:

Fleas are perfectly designed by nature to feast on anything containing blood. Like a shark in the
water, fleas are ideally equipped to do what they do, making them very difficult to defeat. A flea
has a body covered by a tough, tile-like plate called a sclerite. Because of these plates, fleas are
almost impossible to squish. These are also waterproof and shock resistant, and therefore fleas
are highly resistant to the sprays and chemicals used to kill them. Little spines are attached to
this plate. The spines lie flat against the flea’s thin, narrow body as the flea scurries in search of
food. However, if anything tries to pull a flea off through the hair coat, these spines will extend
and stick to the fur like Velcro. Fleas are some of the best jumpers in the natural world. A flea
can jump seven inches, either vertically or horizontally. They have very long rear legs with huge
thigh muscles and multiple joints. When they get ready to jump, they fold their long legs up and
crouch like a runner on a starting block. Several of their joints contain a protein, which helps
catapult fleas into the air as they jump. The adult female flea mates after her first blood meal
and begins producing eggs in just 1 to 2 days. These eggs can be seen with the naked eye.
Shortly after being laid, the eggs begin to transform into cocoons. In the cocoon state, fleas are
fully developed and will hatch immediately if conditions are favorable. Fleas can detect warmth,



movement, and carbon dioxide in exhaled breath, and these three factors stimulate them to
emerge as new adults.

How is it impossible for anyone to detach themselves from fleas?
1. Fleas attach themselves to the skin of the animal.

2. Fleas have little spines that stick into animal fur like Velcro.

3. Fleas can jump very high and land on the same animal.

4. These insects are very clever and have a thinking mind.

Correct Answer :-

» Fleas have little spines that stick into animal fur like Velcro.

5) Read the passage and answer the question that follows:

Fleas are perfectly designed by nature to feast on anything containing blood. Like a shark in the
water, fleas are ideally equipped to do what they do, making them very difficult to defeat. A flea
has a body covered by a tough, tile-like plate called a sclerite. Because of these plates, fleas are
almost impossible to squish. These are also waterproof and shock resistant, and therefore fleas
are highly resistant to the sprays and chemicals used to kill them. Little spines are attached to
this plate. The spines lie flat against the flea’s thin, narrow body as the flea scurries in search of
food. However, if anything tries to pull a flea off through the hair coat, these spines will extend
and stick to the fur like Velcro. Fleas are some of the best jumpers in the natural world. A flea
can jump seven inches, either vertically or horizontally. They have very long rear legs with huge
thigh muscles and multiple joints. When they get ready to jump, they fold their long legs up and
crouch like a runner on a starting block. Several of their joints contain a protein, which helps
catapult fleas into the air as they jump. The adult female flea mates after her first blood meal
and begins producing eggs in just 1 to 2 days. These eggs can be seen with the naked eye.
Shortly after being laid, the eggs begin to transform into cocoons. In the cocoon state, fleas are
fully developed and will hatch immediately if conditions are favorable. Fleas can detect warmth,
movement, and carbon dioxide in exhaled breath, and these three factors stimulate them to
emerge as new adults.

What helps fleas to emerge quickly as adults from being cocoons?

1. The eggs are large enough and can be seen without the help of a microscope.

2. They hatch immediately and transform themselves into cocoons.

3. They are warm inside their cocoon and can emerge as full adults after only a day.

4. They can identify warmth, movement and carbon dioxide in exhaled breath.

Correct Answer :-

o They can identify warmth, movement and carbon dioxide in exhaled breath.

6) Read the passage and answer the question that follows:



Fleas are perfectly designed by nature to feast on anything containing blood. Like a shark in the
water, fleas are ideally equipped to do what they do, making them very difficult to defeat. A flea
has a body covered by a tough, tile-like plate called a sclerite. Because of these plates, fleas are
almost impossible to squish. These are also waterproof and shock resistant, and therefore fleas
are highly resistant to the sprays and chemicals used to kill them. Little spines are attached to
this plate. The spines lie flat against the flea’s thin, narrow body as the flea scurries in search of
food. However, if anything tries to pull a flea off through the hair coat, these spines will extend
and stick to the fur like Velcro. Fleas are some of the best jumpers in the natural world. A flea
can jump seven inches, either vertically or horizontally. They have very long rear legs with huge
thigh muscles and multiple joints. When they get ready to jump, they fold their long legs up and
crouch like a runner on a starting block. Several of their joints contain a protein, which helps
catapult fleas into the air as they jump. The adult female flea mates after her first blood meal
and begins producing eggs in just 1 to 2 days. These eggs can be seen with the naked eye.
Shortly after being laid, the eggs begin to transform into cocoons. In the cocoon state, fleas are
fully developed and will hatch immediately if conditions are favorable. Fleas can detect warmth,
movement, and carbon dioxide in exhaled breath, and these three factors stimulate them to
emerge as new adults.

Why are fleas considered impossible to defeat?

1. They can jump very high.

2. They run at an enormous speed.

3. They are well outfitted to feast on any animal blood.

4. They are too tiny to catch.

Correct Answer :-
» They are well outfitted to feast on any animal blood.

7) Read the sentence carefully and choose the option that has an error in it:

Which was the best of the two books?
1. best

2. Which was

3. the

4, of the two books?

Correct Answer :-

o best

8) Read the passage and answer the question that follows:

In 1864 gold was found in California. Thousands of people rushed there to get some. Many people liked living
there and decided to stay on. But there wasn’t a whole lot to go on because the train service had not yet started as



the railway line was incomplete. There was no phone either...so what do you do if you wanted to get a message
across to a distant place...? Well, you used the Pony Express.

The Pony Express was the fastest way to get news from one place to another. The trail that they rode was around
2000 miles. Most people would be able to travel that distance in about 30 days....the Pony Express did it in 10 days.
It had 184 stations along the way about 10 miles apart. The rider would switch to a new horse at every station. He
would only take his mail pouch with him. After completing 75 miles, the rider would get a home station. It was
tough to ride the Pony Express. For the men who rode the horses, weight mattered. Therefore, most riders of the
Pony Express were teenage boys and they rode at a fast pace...up to 100 miles a day. The ride could be rough and
dangerous as the native Americans attacked them continuously. The Pony Express was able to fulfill an imperative
need at that time.

Why do you think the rider of the Pony Express had to change horses every 10 miles?
1. The rider would get tired of riding the same horse.

2. The rider had to reach the home station quickly.

3. The horse was ridden fast and would get tired.

4. He had to take his mail pouch with him on the horse.

Correct Answer :-

o The horse was ridden fast and would get tired.

9) Read the passage and answer the question that follows:

In 1864 gold was found in California. Thousands of people rushed there to get some. Many people liked living
there and decided to stay on. But there wasn’t a whole lot to go on because the train service had not yet started as
the railway line was incomplete. There was no phone either...so what do you do if you wanted to get a message
across to a distant place...? Well, you used the Pony Express.

The Pony Express was the fastest way to get news from one place to another. The trail that they rode was around
2000 miles. Most people would be able to travel that distance in about 30 days....the Pony Express did it in 10 days.
It had 184 stations along the way about 10 miles apart. The rider would switch to a new horse at every station. He
would only take his mail pouch with him. After completing 75 miles, the rider would get a home station. It was
tough to ride the Pony Express. For the men who rode the horses, weight mattered. Therefore, most riders of the
Pony Express were teenage boys and they rode at a fast pace...up to 100 miles a day. The ride could be rough and
dangerous as the native Americans attacked them continuously. The Pony Express was able to fulfill an imperative
need at that time.

Why did people rush to California in the 1860s?

1. Gold was found in the state and everyone wanted some.
2. The Pony Express was founded in the state.

3. It opened the way for new communications.

4. It was a place for new settlements.

Correct Answer :-

» Gold was found in the state and everyone wanted some.



10) Read the passage and answer the question that follows:

In 1864 gold was found in California. Thousands of people rushed there to get some. Many people liked living
there and decided to stay on. But there wasn’t a whole lot to go on because the train service had not yet started as
the railway line was incomplete. There was no phone either...so what do you do if you wanted to get a message
across to a distant place...? Well, you used the Pony Express.

The Pony Express was the fastest way to get news from one place to another. The trail that they rode was around
2000 miles. Most people would be able to travel that distance in about 30 days....the Pony Express did it in 10 days.
It had 184 stations along the way about 10 miles apart. The rider would switch to a new horse at every station. He
would only take his mail pouch with him. After completing 75 miles, the rider would get a home station. It was
tough to ride the Pony Express. For the men who rode the horses, weight mattered. Therefore, most riders of the
Pony Express were teenage boys and they rode at a fast pace...up to 100 miles a day. The ride could be rough and
dangerous as the native Americans attacked them continuously. The Pony Express was able to fulfill an imperative
need at that time.

Why did the Pony Express begin?

1. Ponies were the fastest means of transport.

2. America had a lot of ponies and made good use of it.

3. There was no telephone or trains and no means to get or send news.

4. There were many wild horses roaming the countryside.

Correct Answer :-

» There was no telephone or trains and no means to get or send news.

11) Read the passage and answer the question that follows:

In 1864 gold was found in California. Thousands of people rushed there to get some. Many people liked living
there and decided to stay on. But there wasn’t a whole lot to go on because the train service had not yet started as
the railway line was incomplete. There was no phone either...so what do you do if you wanted to get a message
across to a distant place...? Well, you used the Pony Express.

The Pony Express was the fastest way to get news from one place to another. The trail that they rode was around
2000 miles. Most people would be able to travel that distance in about 30 days....the Pony Express did it in 10 days.
It had 184 stations along the way about 10 miles apart. The rider would switch to a new horse at every station. He
would only take his mail pouch with him. After completing 75 miles, the rider would get a home station. It was
tough to ride the Pony Express. For the men who rode the horses, weight mattered. Therefore, most riders of the
Pony Express were teenage boys and they rode at a fast pace...up to 100 miles a day. The ride could be rough and
dangerous as the native Americans attacked them continuously. The Pony Express was able to fulfill an
imperative need at that time.

Give a synonym of ‘imperative’.
1. Trifling
2. Trivial

3. Crucial



4. Inconsequential

Correct Answer :-

e Crucial

12) Choose the appropriate tense to fill in the blank in the given sentence:

I the book that you lent me. I have got another 80 pages to read.

1. have been reading
2. has been reading
3. had been reading

4. am reading

Correct Answer :-
« have been reading

13) Fillin with correct determiner in the given sentence:

My brother does not drink coffee.
1. few

2. alot

3. much

4. many

Correct Answer :-
e much

14) Rewrite the following changing the active sentence to passive.

Seema informed me about her late arrival.

1. I has been informed by Seema about her late arrival.
2. I was informed by Seema about her late arrival.

3. I informed Seema about her late arrival.

4. About her late arrival, I have been informed.



Correct Answer :-

« I was informed by Seema about her late arrival.
15) Choose the right tag:

Add some more milk to your cereals, ?
1. would you

2. wouldn’t you

3. don’t you

4. do you

Correct Answer :-
» would you

16) Choose the right tag:

He is coming here today, ?
1.isn't he

2.is he

3. has he

4, doesn't he

Correct Answer :-
e isn't he

17) Choose the appropriate prepositions for the given sentence:

A waterfall is a stream ______ water that drops straight a high point.
1.in ... out of

2. of ... down from

3. of ... through from

4, for ... out from

Correct Answer :-

e of ... down from



18) Choose the appropriate antonym for the highlighted word in the given sentence.

There is a shortage of books at our library.
1. surfeit

2. paucity

3. opulent

4. undersupply

Correct Answer :-

o surfeit

19) Choose the appropriate conjunction for the given sentence.

Upendraistaller____ Arun.
1. that

2. till

3. though

4, than

Correct Answer :-

e than

20) Choose the appropriate option that rewrites the given sentence in its passive voice.

Anil bagged the best conduct award.

1. The best conduct award is bagged by Anil.

2. The best conduct award was bagged by Anil.

3. The best conduct award has been bagged by Anil.

4. Best conduct award was being bagged by Anil.

Correct Answer :-

o The best conduct award was bagged by Anil.

21) Choose the appropriate option that rewrites the given sentence in indirect speech.



Khushi says to Swati, "When are you going to Kanpur?”
1. Khushi asks Swati when she is going to Kanpur.

2. Khushi asked Swati when she was going to Kanpur.

3. Khushi asked Swati about going to Kanpur.

4. Khushi questioned Swati about Kanpur.

Correct Answer :-

« Khushi asks Swati when she is going to Kanpur.

22) Choose the appropriate tense to fill in the blank in the given sentence:

Yesterday while I inclass I the hiccups. My friend told me my breath.

1. sat, got, to hold
2. was sitting , had got , to hold
3. was sitting, got, to hold

4. am sitting, got, hold

Correct Answer :-
 was sitting, got, to hold

23) Choose the appropriate synonym for the highlighted word in the given sentence.
It is important for a driver to have a valid Driver’s License.

1. significant

2. creamy

3. trifle

4, consider

Correct Answer :-
* significant

24) Choose appropriate articles for the given sentence:

Experts believe that by twenty-first century earth’s supplies of gas and oil will be
largely gone.

1. no article required ... no article required



2. No article required ... an
3. the ... no article required

4, the ... the

Correct Answer :-
e the ... the

25) Choose appropriate article for the given sentence:

___ Bibleis a holy book, which teaches us the way to live a good life.
1. The

2. No article

3. An

4. A

Correct Answer :-

o The

26) Choose an appropriate modal for the given sentence:

Harini is late. She ____ have forgotten her way back to the new hostel!
1. should

2. can

3. shall

4, must

Correct Answer :-

27) Choose the most suitable pronoun for the given sentence:

A big pendulum clock! is what I want.
1. Those
2. This

3. Their



4, These

Correct Answer :-
e This

28) Choose the option that substitutes the given phrase appropriately.

The fear or hatred of books
1. Bibliophobia

2. Bibliophile

3. Bibliomania

4. Bibliography

Correct Answer :-

» Bibliophobia

29) Choose the option that best explains the highlighted expression:

She would go to the ends of the earth to save children.
1. to fuss around

2. walk with her children

3. to do everything possible

4. doing nothing possible

Correct Answer :-
» to do everything possible

30) Which of the following options best combines the given sentences?

Three people were injured in the blast. It took place yesterday.
1. The blast, yesterday, three people were injured in the blast.

2. Three people yesterday were injured in the blast.

3. Yesterday, three people were injurious in the blast.

4. Three people were injured in the blast that took place yesterday.

Correct Answer :-



e Three people were injured in the blast that took place yesterday.
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Topic:- Science (SCI)

1)



Find x, v and z representing the number of moles of the reactants and products in the skeletal

equation given below: /
A QU AT urew AT @HAERLOT A Hf#EERE R ScuEl & arHEs Rt iA@' &

yfafafce = g = v 3R z 739 F:
Fe:O: + xCO 2 vFe +zCOx

1.x=1,y=2 & z=1
2.x=3,y=2 & z=3
3.x=2,y=3,&z=2
4.x=4,y=3 & z=4
Correct Answer :-

. X=3, y:2 &Z:3

2) What happens when a sound wave is propagated through a medium? /
gfe eafy a1 U Areas |y g, o T g 82

1. The particles of the medium move perpendicular to the direction of propagation of the wave./

HIZH & HU, T &b YR B} A= & dead QIR 8id 5|

2. The particles of the medium remain in the state of rest./
HIZH & HUI Ay H G 5

3. The particles of the medium make to and fro motion about their mean position./
HILH & HUI, 3! A1 R & GHIT 3LRJR- Tl 81d B

4. The particles of the medium are also propagated. /

eEH & S0 4 g9Rd g g

Correct Answer :-

» The particles of the medium make to and fro motion about their mean position./

HIHH & HUT, 37! Aed FRUTT & THU 3eRIeR- nfafa g g1

3) What are the common fishes selected for pond culture systems? /
aree wat= gonfer & forg wafa ot € am gt o 52
1. Sharks and rays/w GﬁT%

2. Sardines and mackerals/ﬂ'l'%:f Gﬁ?ﬁw

3. Mullets, bhetki and pearl spots/mﬁ@, Neh! ﬁ?uﬁm‘f‘d



4, Catlas, rohu, mrigals, common carps and grass carps / dcdl, QBIE, HiTd, T HTY 3R I
EaL

Correct Answer :-

« Catlas, rohu, mrigals, common carps and grass carps / $hcdl, QBIE HiTd, I 1Y 3R I

4) The phenomenon responsible for the twinkling of star is: /

IRl 3t feufeurge & forw Swerdt gem &:
1. Dispersion and reflection / UHIR 3ﬁ7 HQIOlCT"I

2. Reflection /EITIER‘T:T

3. Atmospheric refraction / dlgl-isﬁ\lq 3

4. Dispersion / TR

Correct Answer :-

« Atmospheric refraction / dlgl-iSﬂnlq 3TqcH

5) Which one of the following diseases is almost eradicated from our country? /

fFrafafea 9 @ fra furd &1 guR 37 d amrET I R e man g2
1. Dengue / ST

2. Malaria / AT

3. Encephalitis / AT TMY

4. Poliomyelitis / QiTeTa

Correct Answer :-

. Poliomyelitis/tnm

6) The hotness of an object can be measured by its ./
forelt avg &) THige # U SRT UTUT ST gl 3|
1. volume / AHTIdA

2. Temperature / dIUHIT

3. Size / TP

4, Density / Yddd



Correct Answer :-

o Temperature / dUHH

7) The frequency of oscillation of a pendulum is one hertz. What is the period of oscillation? /

U UgaH & S $1 ATGRI Teb 5o € 1 GlorT i 3rafy qar g2
1.0.5s

2.25s

3.1s

4.0.1s

Correct Answer :-

8) A body of mass 10kg is moving along a horizontal plane with a uniform velocity 10m/s for 5
seconds. The acceleration produced in that body is: /

10 fHUT goUH™ &7 U P, 10 HieT/AHS & TP JHE AT A 5 IS & fow e afaw
Idg & JHTAR AR 1 39 fAer g1 Iarfed @Rl g:

1. 0.5 m/s?
2.2 m/s?
3.0 m/s?
4. 50 m/s2

Correct Answer :-

9) Complete the statement with the correct option given below:

Matter is anything that ./
= feu e fawed & 9@ O} A gH: FYF Y qul &9:
uerd ag ¢ Wit
1. occupies space and has a definite mass. /

R W1 & 3R forgept U AfEd goaw giar g |

2. occupies space but has no definite mass. /



Y WAl § dldhd STB] Bis HIYd GedHH ol sidl o |

3. exists as a solid with a definite mass. /

T Fid ST & 91U T 39 & U & A5G gid1 ¢ |
4. has a definite mass and a definite shape. /

U Y goaHM td T A TR ST 8T 8|

Correct Answer :-

« occupies space and has a definite mass. /

R IR § 3R e e Afdd geqm = gar g

10) Select the appropriate metal to be used to change the colour of an aqueous solution of
CuSOy from blue to colourless along with a red brown solid getting deposited. /

cuso, & T faeras, ForT are WY 11 & 319 oTHT §3iT 3 39 g™ auT faea &) ia
M [EH T & T wfaa g1 9Tl SUgad UTg &1 99+ Be |

1. Silver. / 3lg
2. Gold. / |IFT
3. Mercury. / URT
4. Zinc. / SIXdl

Correct Answer :-

e Zinc. / Sl

11) Sharp edged metal pin will go easily into the wooden board because: /

oS YR qrelt arg Bt U AT & ah Sl & dis A g St Hifp:

1. As area of contact reduces force increases / GUP &3 HH fﬁef 99 dedl %I

2. As area of contact reduces force decreases / HUD &F HH B Y 9 HH Bl %I

3. As the area of contact reduces the pressure reduces / % &9 HH g ¥ T1§ HH BT B

4. As the area of contact reduces the pressure increases / U &7 HH e I a1 Jedl gl

Correct Answer :-

« As the area of contact reduces the pressure increases / U &7 FH g T a§ Jedl %I

12) A screw gauge with zero correction gives the following reading when used to measure the
diameter of a wire. Pitch scale reading = 0 mm and head scale reading = 52 divisions. Given



that 1 mm on main scale corresponds to 100 divisions of the head scale. The diameter of wire
from the above data is: /

A GUR & ATY Th Bp 76 Th dR & T HI 10 & ¢ STahT § 9/ o W)
fFrafefaa Hfgw ¢ar 81 foa arge & = o ot ok 8 amue Hf$n = 52 @1 fear
w%%%a@mwm1ﬁ1ﬁ,%3mw% 100 WSI & AIEY 3| ST T A dR
DI 5:

1.0.0052 cm / 0.0052 Tt
2.0.052 cm / 0.052 T4t
3.0.26 cm / 0.26 I
4.0.52 cm / 0.52 94t

Correct Answer :-

. 0.052 cm/0.052 IHY

13) A dull green colour coating formed when a copper vessel is exposed to moist air for long.
The green material is a mixture of: /

o9 U did BT UTH dd HHY de 3% aTd1a3 01 § IgdT §, a1 3T UR TP 83 3 B uvd o
STl 81 98 871 uerd f=1 acal &1 uep firyur @

1. Cu(OH), and CuO / Cu(OH), Td CuO

2. Cu(OH), and CuCO; / Cu(OH), Td CuCO;
3. Cu(OH), and Cu,0O / Cu(OH), Td Cu,0

4. CuO and CuCO3 / CuO Td CuCO;

Correct Answer :-

« Cu(OH), and CuCOj; / Cu(OH), Td CuCO;

14) Choose the incorrect property about colloids. /

PIATSS b S UIerHd &1 T B |

1. Colloidal particles do not settle down when left undisturbed i.e. colloidal sols are quite stable /

HIASSH P HUI dd db T8l SHd §, 918 db [P I Uid Tal BIS a1 SI1ar g, It
HIAsSd fadu- HTh! RR FA |

2. Colloidal particles are not visible to the naked eye. /

HIATS S HU ATHT 3G & fe@Ts T8 S 8

3. The size of colloidal particles lies in the range 1077 =107 c¢m /



HIAS S PUI BT DR 10-7 —10-3 JH. BT HHTH 8Id
4. A colloidal solution is homogeneous in nature /

UF Plazsd [Aaa Ui § Ielda gIar g

Correct Answer :-

« A colloidal solution is homogeneous in nature /

TS HIARSd [Aaa Udhid H Iokig gar g |

15) Identify an isotope used as a tracer to detect the blood clot in human body /

A TR # T P YFP BT UdT T P 1T T 3R &b FU § UY g1 910 U
JARITS P Ugd= B3 |

1. Uranium — 235 /ZRIEP:II[— 235
2. Todine -131 / 3TATSIH — 131

3. Sodium — 24 / TIFSTH - 24

4. Cobalt — 60 / DIETT — 60

Correct Answer :-

« Sodium — 24 / QST — 24

16) The product formed when iron reacts with steam is /
@e 3R arsy Siflfera | g+ aTer IaTe B:

1. FeO

2. FeH

3. Fe203

4. Fe30,

Correct Answer :-

o FE304

17) The role of decomposers in the ecosystem is /
uifRufast a3 # srrges! & Yfer gidl 8
1. They do not act on organic compounds. / q FES D R BT Tol Pd |



2. To convert inorganic materials into simple forms. / PTEHD TGl b IRa &l # gfeafeld
HRATI

3. To convert organic materials into inorganic forms. / HIED UTdf B HBTED &l H
gRafdd BT

4. To convert inorganic materials into organic compounds. / 3{®Ta-d UaTf B Hai-d qifiTeh! H
gfkafdd &

Correct Answer :-

« To convert organic materials into inorganic forms. / HIED YTl B SBTE-dH i J
hHRATI

18) The lightning arrester helps: /

1. To store the electric charges at the time of lightning /
dfed o 90y faggd 3ol &1 FUeld o+ H|

2. Dissipate the electric charges in to the atmosphere /
faggd smaxil & agHed ¥ Bigd

3. Avoid the production charges on the clouds /
qreal o AR & IAEA T A |

4, To transfer the electric charges to the ground /

faqgd 3ma=il 1 Yff H VIR 6 |l

Correct Answer :-

« To transfer the electric charges to the ground /
fagga sma=l &1 YA T RFaRd w1 H|

19) How much electrical energy in kilowatt hours is consumed in operating ten Swatt bulbs
for 10 hours per day in a month of 30 days? /

30 f&T & uep = o ufa fa 10 W & 1 5 are & ow geal & wanT & fhdmare gei o
ot fagga Suf @t @ua gidl 82

1. 15 kWh
2. 150 kWh
3. 15000 kWh

4. 1500 kWh



Correct Answer :-

« 15kWh

20) Calculate the formula unit mass of MgS04.7H,0
[Atomic masses: Mg =24u,S=32u,0=16u, H=1u]/
MgSO0,.7H,0 & JA §HTE STHT B T BN
[URHATY GHFHTT: Mg=24u,S=32u,0=16u, H=1u]
1.286u

2.232u

3.246u

4.198u

Correct Answer :-

e 246 u

21) A bullet just sticks on a fixed wooden board when it is fired from a gun. The Kinetic
energy of the bullet is mainly converted in to /

g I el gRt o IR U Auifva aost & 91 uR et g9 A1t g1 Meft &1 s
Solf 4=1 ¥ | 399 ufafdd g ot 3

1. Only Heat energy/wm 3ol
2. Kinetic energy for the wooden board /W%@I@C%W TSt Sl

3. Only Sound energy / Had i ol

4. Sound and heat energy both / ¢ 3R FEAT FHolf Gl

Correct Answer :-

« Sound and heat energy both / & 3R ST Solf gAY

22) Ina sunny day, when the atmospheric temperature is 37°C, the temperature inside a car,
which is parked on an open ground is: /

TS YU a1 37 o, 99 argrisea araHH 370 AR a1 8, @ U9 SR & 3 a1
ATIHTH, St o A | @t &, e ghm:

1. Greater than or equal to 37°C / 37°C & IRER 1 3P

2. Equal t037°C / 370C & SRI&R



3. Always greater than 37°C / 37°C q 3{feeh
4. Less than 370C /370C 4 &H

Correct Answer :-

« Always greater than 37°C / 379C T 3ifed

23) In a filament bulb the electrical energy is converted into: /
% flhaic 9e9 (dq 909) © fagga Sut »f sad uiafda fear smar g:
1. Chemical energy / RIS Sl

2. Only heat energy / Had ST Sl

3. Only light energy / HIA YD 3ol
4, Light and heat energy both / YhIR[ 3R ST ol gl

Correct Answer :-

« Light and heat energy both / UHTRI 3R ST Sl gl

24) What is the valency of Carbon in Methane? /
HAT ¥ Brel BT Harerwar -t g2

1. Valency of C =2 / C ! TSIl = 2

2. Valency of C =1 / C D1 STl = |

3. ValencyofC=4/Caﬁ¥i?ﬂW=4

4, Valency of C =3 / C B! STl = 3

Correct Answer :-

. ValencyofC=4/CaﬁwTrlﬁT=4

25) Which among the following is a mixed anhydride? /

fFrafafad o @ o e Aifda Tegsse 82
1. CO,

2. N,O5

3.50,

4, N02



Correct Answer :-

. NO,

26) Which of the following is not a control measure for the storage of grains? /
frafafea # & w1 smme Werw & fRrg fdsror Sura =16t &2

1. Chemical method / A fafey

2. Fumigation / "fﬁ

3. Plant products like mineral oils / WS 9 oY U6y 3T

4. Cultural method / WW fafd

Correct Answer :-

« Cultural method / WW fafer

27) Which of the following is a biotic component? /
frafafea # & o191 te s vea 32
1. Air/dIg

2. Water / SIc]

3. Soil / fgt

4. Living things / Siifdd a&qq

Correct Answer :-

« Living things / Sfifdd a¥qu

28) Which of the following is a chemical effect of electric current: /
o o @ w1 fagyd vars &1 INRfe yuTE §:

1. Producing a magnet using electric current /

faggd Ua18 &1 IUUNT dReh T G S DAl
2. Producing heat in an electric kettle /

TS Saifaee daail H S Sad DAl
3. Producing light using electric bulb /

fersTell & Sesl BT IUGIT B FebT= IS DA

4. Production of Hy and Oy by passing current through water /



Tt ¥ URT Ua1ed $b H, 3R 0, P I HRAT

Correct Answer :-

» Production of Hy and O, by passing current through water /

U § URT YaIfed dRb Hy 3R 0, HT I HAT

29) Name the property of the components used for separating salt and camphor. /

TP 3R PR B AT 1 & T wahT frd o1 arel ges! & quied sarsa |
1. Using separating funnel /qu?ﬁ@ﬁqmwﬂﬂ
2. Magnetic separation /W YYahT[

3. Sedimentation / ddTg
4. Sublimation /EW

Correct Answer :-

» Sublimation /Eﬁq[ﬂ:[

30) Discoveries, inventions, laws, theories are all related to the ./

e, fawpr, faw, Rigia It ¥ Iefa g
1. ease in daily living /W Sitad H ST
2. study of science / a3 &1 31

3. luxuries of life / Sifa & RSRERSIRE]
4. satisfying human curiosity / ATd1g TSI &1 TS HRAT

Correct Answer :-

« study of science / A &1 3egg

31) Not only formative but also summative assessment can be conducted
through: /

4 »ad fAafonas, afce ahmae e Wt A9 & arem S d=nferda
fopar ST BT B:

1. Homework / W

2. Question and answer sessions / U4 3R I TF
3. Projects / BIRISEIE



4. Self-evaluation of teachers / ﬁT&‘@ Gl E—W

Correct Answer :-

« Projects / BIRISEIE

32) The drawback of Case Study method is that it does not lead to a: / &9-

witfifrmduesfras__ vem s o<l ol
1. Generalization / STHTIIHRU]

2. Conclusion / FTend

3. Categorization / GEHUT

4, Assimilation / HTHIATIH U]

Correct Answer :-

. Generalization / THTIIH0]

33) Which of the following is not a feature of Continuous and Comprehensive

Evaluation (CCE)? / fFafafaa # & #19 f bad vd aumue qeaie ([RiE)
&I fauar 11 22

1. It helps the teacher to learn about the existing concepts of students. / g BIEIED

Hio[eT AR & IR & A § fR1ere &t Ggrial ddl g

2. It involves more frequent tests and examinations. / Q%IDI' TR TR 3R
TTeme afeferd gl g |

3. It involves repeated assessment of the same parameter. / $%I£I' U Ep[ H[QUS hI

gR-IR 3ffpa fRIfad glar g
4. It is a school-based evaluation. / g Uch ICRINEEIBIEG] W %I

Correct Answer :-

« It involves more frequent tests and examinations. / s%lﬁl. [GRIGIES qﬁ&‘l'UT 33?
Tteme afiferd gieh g |

34) Which of the following is not a scientific question? / e d S s

U AT Uy 81 82

1. What is the density of water? / T BT g-cd fard=1 82



2. Why can we not see in the dark? / §H SR T ol ] o Tohd 82
3. What is meant by a secular republic? / ﬂﬁﬁ?—a&‘f 0TS T T 3 %?

4. Why is the colour of sky blue? / 3{ThTRT BT I SINIEER] %?

Correct Answer :-

« What is meant by a secular republic? / ﬁlﬁﬁ@&‘f oI T A7 3 %?

35) A formal event where multiple experts deliver their speeches is known

as ./ U NS YT 55T Fs faug 34 yryured e,
9§ ST STl 2

1. Laboratory /U’EnTI'-‘QTIFIT
2. Symposium / BSEIE]]

3. Exposition / g

4. Workshop / HTIRITAT

Correct Answer :-

« Symposium / TS

36) What is the name of the satellite that was placed in the geostationary
orbit specifically for increasing television-based education in India? / 3 3UUg HI HATH

w1 8, o YRa # Tefifas-smenfya fRien Y sem & forw faxiy v & yRAfas e
o 3G TT YUT?

1. ERS2

2. EDUSAT
3. TechEdSat
4. ATS-6

Correct Answer :-

- EDUSAT

37) What is meant by intervarietal hybridisation? /
Sarfafaey Tevor &1 w1 3 gian 82

1. Crossing between different varieties of plants. /



Gl & faftrs g R & S HehdT (hIRIT)

2. Crossing between different genera. /
IBERSIRERICRERGICAIRN)

3. Crossing between genetically dissimilar plants. /
3TIaiRI® =0 § fid Ul & ofa Th=dT (BIR)

4. Crossing between two different species of the same genus. /

U 5l dU & & FHF UoTiaal & i HopdT (hIi)

Correct Answer :-

» Crossing between different varieties of plants. /

e & fAfT UBR & o JapaT (Hi)

38) Assessment standards are required to provide effective science education for all. To
assess teaching of science by science teachers in a classroom, which of the following

is NOT applicable? / I} & foIT THTAY fagm=1 RRram ue= #31 & forw sriea+
] B TaTgHdl eIt 81 Han ¥ g e gr1 A= & Rraror &1
iwed H3- & forg, Fafafaq # € o9 91 Suygea 181 82

1. Parents’ view of the teacher. /ﬁT&‘W%ﬂ]ﬂT-ﬁﬂT Gal ?@WI

2. Performance report of the students in the subject. /Wﬁmﬁm
RO |

3. Students’ feedback on the teacher. /ﬁfwwm CARIGIERI

4. Other school’s opinion of the science teacher. / 3 fagTeral &1 fog Ries &
IR T

Correct Answer :-

. Other school’s opinion of the science teacher. / 3 fagreral &1 fog Riee &
IR G|

39) The factor that does not influence the formation of winds is: /

arg fafor &) guifad 9 #A aren aR$ A= 3:
1. Presence of mountain ranges / udd el ot IufRfa

2. Presence of seas and oceans / Htl;?l' \3'?|T Heldl? IQ\I. &t B'Cl'@lﬁf

3. Uneven heating of the atmosphere in different regions of the earth / q%a“r CACIRPREIE
dIdTdRUl h] HHHIT dTy-




4, Rotation of the earth / q%aﬁ G| Eﬂﬂ:r

Correct Answer :-

 Presence of seas and oceans / HJ;LQ\I. 3R HENITRI &1 Juffa

40) When a force of 1000N is applied on a particular surface the pressure acting on that
surface is found to be 10 Pa, then the area of the surface over which the force is applied

is /

wiq fordt faRiw a8 TR 1000 <ge &1 96 YT a1 8 df 39 Jdg R @ a1l ga1d 10 Pa U4l
ST @, &Y e WA e BT &b fbaT 8:

1.0.001 m?
2. 1000 m?
3.100 m?
4.10 m?

Correct Answer :-

« 100 m?

41) Four objects P, Q, R and S have the speeds 10m/s, 36km/h, 18km/h and 30m/s
respectively. Which of the two objects have the same speed? /

TR a¥g3f P, Q, R Td S &1 7ifal =T 10 /|, 36 fHft/der, 18frti/wer i 30/A 31 vt
aegail Ft e gwre @2

1.RandS/RQaS
2.PandR/PTIR
3.Pand Q/PTIQ
4.QandS/QUAS
Correct Answer :-

« PandQ/PUWIQ

42) How many times the bob of the oscillating pendulum crosses the mean position in 20
oscillations?/

S Ugay 3t 919 fHa-t IR 20 o=t § arer fRufa & uR H-edt 22
1.10

2.20



3.40

4. 60

Correct Answer :-

. 40

43) A ball is dropped from a height of 100m. Find the time taken by it to reach the
ground. (g = 10m/s2)/

TS ¢ 100 W B} g A RIS w1l 81 e o Yy 9 ugeq | fha=r T9a @1 (g = 10m/s2)
2455

1.
5v2s

3.20s

4, 25s

Correct Answer :-

2455

44) Amount of energy transferred from one trophic level to the next is /
TP T W A T Gy TR § RIFART el Bt ar Grikd
1. 5%

2. 20%
3. 15%

4. 10%

Correct Answer :-

e 10%

45) The acid present in Rancid butter /
fagpa i aeEm # SufRya s g 3

1. Butyric acid / @{%W ST

2. Acetic acid / URfe® 3T

3. Lactic acid / Qfdcd 31



4. Formic acid / BIH® 3%

Correct Answer :-

« Butyric acid / W ST

46) In an electric motor, the energy transformation is from: /

T faggd Hier #, ol ukad o giar &:

1. Magnetic energy into electrical energy / W ol BT ﬁ_c(rﬁﬂ ol A
2. Mechanical energy into electrical energy /W Sl &l f&qu Foil A
3. Electrical energy into magnetic energy / faggd Soll &1 daa g SHoif A

4. Electrical energy into mechanical energy / faggd Suif &1 Fifie ot &

Correct Answer :-

« Electrical energy into mechanical energy / fagdd &4l &1 gifde Sl 4

47) CANCELLED

Thick layer of fat called blubber is found in: /
SR ATHS T 1 At Uvd 549 urf) ol &
1. Whale / ¢

2. Polar bear/ ?;Fﬂ'q HIc]

3. Camel /é’Tc’
4. Shark / 9%

Correct Answer :-

. Whale/®d

48) Which one of the features mentioned below about decomposers is not applicable to
decomposers? /

3Ted uATSie H gl § 3R 3 it &1 I1w Fed B

1. They transfer energy to the next trophic level in the food chain. /

d T 4T H ST Tl TR TR SHoll RIFART $HRd & |
2. They are also called as saprophytes or reducers /

3 gaoiidt a1 TYHRS Yl HeT a1 g

3. Decomposers are also scavengers and they clean the earth. /




3Ugceh UATSied Ui gld 8 3R d 3l I b Hd 3 |
4. They help in recycling nutrients. /

d U J=AehUl § Hag hRd & |

Correct Answer :-
« They transfer energy to the next trophic level in the food chain. /

d T AT H SATe Tl TR IR Sl RIFTART dXd g |

49) Which of the following is not a child-centred classroom? / fFgferfad # q Hi-d1

qTA-Bisd BeT Tl 82

1. Teachers promote collaboration in learning / fQT&‘la'T AR o ﬂ%th"'[ Al deldl
gl

2. The teacher is a facilitator instead of an instructor / TRT&/@® Udh Ui & o
U GH-99F ¢ |

3. The teacher decides content, instruction method and assessments / fRrerp HITI"Jﬁ,

Az fAfd iR 3pe o1 v HRaT 8|

4. The students have a choice to pick assignments and decide assessment criteria /
BHEI & U STSTHE T 3R Jedidh AMGS 0d HR- &1 [dhed g |

Correct Answer :-

« The teacher decides content, instruction method and assessments / fRrerp HITI"Jﬂ,

A ffd iR 3pe o1 vl BT 8|

50) Which of the following wastes is not bio degradable? /
frafifad & & $19-u1 sufre Jq g a1 9 sawiha T8 22
1. Vegetable peel / feaal & foas

2. Milk sachets / g8 & e

3. Cow dung / T &I &R

4. News paper / QIR

Correct Answer :-

« Milk sachets / G4 & Udhe



Which of the following learning approach is considered to be a derivative of the

Ausubelian approach? / ﬁ'ﬂ'ﬁf@ﬁ # I 19 91 W'UT, Gﬁ'\ﬂaﬁﬂq
TP BT I HHT SATET 82

1. Experiential learning / SJHdTHD 3T

2. Collaborative learning approach / Head® AT DI
3. Analogy strategy / HI€Y oIt

4. Concept mapping / RIGT=d AR

Correct Answer :-

. Concept mapping / RIGI=d A

52) Which of the following can help the students to learn science through kinesthetic

movements?/mﬁﬁﬁqmﬁaﬁmmﬁﬁa?mmﬁﬁﬂﬁm
# Hag B GHdl 82

1. Written test / foTRad ate

2. Debate / dTe-fddrg
3. Drama / dICch

4. Quiz / PEIRE]

Correct Answer :-

« Drama/-Ich

53) If an object is kept in between the principal focus and the centre of curvature of a
concave mirror, then the nature of the image will be: /

gfe fpft avg &) &1 BIod 3R 3aad U & apdl & g A @1 S1dT 8, o Bfd BT upfa gri:
1. Real, enlarged and inverted / IRddd®, 3TAATYd Td Iect

2. virtual, diminished and erect / STHTHT, Hepferd Td Htell

3. Real, diminished and inverted / AR, HpTad Td I

4. Real, diminished and erect/ dRdfde, Hepfad Td it

Correct Answer :-

 Real, enlarged and inverted /W, GI'&W%QH 3]



People of different age groups need different amount of sleep. Who among the following
needs more sleep? /

fafira amg ot & @ 1 sraT-srerT aEn ® g $ smazaear gidt 81 Fufafaa # @ fra g #
e 31t SRed gl 32

1. Child / d=dT
2. Infant / |§IQI

3. Man /&Y
4. Woman /II'%FIT

Correct Answer :-

. Infant/fQTﬂ

55) The force of 100N is acting normally on a surface of 2.5 m2. The pressure acting on
that surface is: /

2.5 m2 3t TP Jdg W FIHTA: 100 N BT I TTAT 7T € | g IR & 91l &91d 8:
1. 400 N/m?

2.40 N/m2

3.4 N/m?

4. 250 N/m?

Correct Answer :-

e 40 N/m?

56) A teacher is trying to nurture an aesthetic sense in his students, he should

encourage them to: /wm&wmmﬁﬁaﬁamﬁwmﬁﬁ
DI B TFT 7, S I WATed ST AMM¢ fob:

1. Investigate ideas / EEREISIELR
2. Development of models of inquiry / ST & UfdHM (Hied) @l famfd &

3. Observe phenomenon keenly / YcCl Dl S dl q¢d|
4. Frame questions / 3 UY IR B |

Correct Answer :-

« Observe phenomenon keenly / Yl Dl S dl 9 ¢y



57) Which of the following would not promote active discussion? / Fraferfaa &

| ©I |itha 79f B ggrar 781 gm?

1. Selecting topics from upcoming tests. / ST Ti&on § fawal &1 T ST

2. Summarizing ideas with the help of learners at the end of a discussion. / EEIED
3id H Rranfiat ot ggrdr ¥ faaRl o iR Bl

3. Acknowledging learners for responses. / gfdfshar & forg Rrenfial &1 WeR
HAT|

4. Encouraging questions as well as responses to each other’s questions. / qardl &l

MR HAT Td 1Y 1 Th-gaR & Uil b1 SA1d o1

Correct Answer :-

« Selecting topics from upcoming tests. / SMTTHT TRAefort 1 fawal &1 99+ B

58) Which of the following statements is false with respect to scientific theories? /

AT Rigidl & day o Fafefad 3 S S99 1 $3= Taqa 82

1. A theory must be tested with rigour. / Tch ﬁ-l&ld h[ €edl & g1y qﬁ&‘I'UT foar ST

Bl
2. Theories must follow observations. / FRIGIdl @1 U&UT b1 UTe BT BT |

3. Theories may be expressed as an equation. / RrGidi &l TP GHIHRT LR k|
o fohaT S el g |

4. Predictions of theories must be reproducible. / R1gT=di &1 HfosaanforaT s/awg
FU J GG it dlig |

Correct Answer :-

. Theories must follow observations. / @l@l(‘” Gal a&‘l'Uﬁ CARING KRG EIT%'QI

59) A scientific theory cannot be expected to: / Th aﬁm Rrgia I srdem =8t
DI ST Al b -

1. Predict all outcomes / Gt TROMH} &1 EEJIEECIW |
2. Resist falsification / ST h XU h] oIy B

3. Receive questioning / gl B Ui B |

4. Change with time / qHY & Iy dad|



Correct Answer :-

. Predict all outcomes / FTH} TRUTHS ST gaiTaM T |

60) Overuse of chemical fertilisers in agriculture makes the soli acidic and the land infertile.
What substance is generally added to the soil to neutralize this effect? /

P A Iae IdH! & oifa wahT I frdh srcfia gt @ 9yt Yy srques; 8 wirdt 81
39 TUTT B I3[R H1 F forg I f5a uerd o1 firgt & freman sman 82

1. NaOH

2. Mg(OH),
3. N32CO3

4. CaO

Correct Answer :-

« CaO



